5PS5a.  

At the end of the baseball season the top three hitters were Ethan, Maggie and John.  Ethan’s batting average was 0.282, Maggie’s batting average was 0.223, and John’s batting average was 0.272.  Write the batting averages in order from the greatest to the least.
Al fin de la temporada de beisbol los tres mejores bateadores fueron Ethan, Maggie y John.  El promedio de batear de Ethan fue 0.282. lo de Maggie fue 0.223, y lo de John fue 0.272.  Escribe los promedios de batear en orden del mayor al menor.  

Multiply.  Multiplica.
2.3 x 4 = 


0.8 x 1.2 = 

23.4 x 1.1 = 

5PS3a.  
Luis has 471 baseball cards.  He wants to share them equally among two friends and himself.  How many baseball cards will each person receive?
Luis tiene 471 tarjetas de beisbol.  Las quiere compartir igualmente entre dos amigos y él mismo. ¿Cuántas tarjetas recibe cada persona?
5PS23d.

Jerome and Marcus have 13 baseballs.  Marcus has 5 baseballs.  How many baseballs does Jerome have?

Jerome y Marcus tienen 13 beisboles.  Marcus tiene 5 beisboles. ¿Cuántos tiene Jerome?

5N21a.

Aaliyah and Katie went to the candy store.  Aaliyah bought 3/8 lb. of gumdrops.  Katie bought 2/8 lb. of jellybeans.  What is the total weight of the candy the girls bought?

Aaliyah y Katie fueron a la tienda de dulces.  Aaliya compró 3/8 libra de chocolate.  Katie compró 2/8 libra de paletas.  ¿Cuál es el peso en total de las dulces que compraron las dos?
5CN1a.

Mrs. Rivera the librarian bought 6 shirts for the library helpers.  Each shirt cost $6.95.  She paid for the shirts using a fifty-dollar bill.  How much change did Mrs. Rivera receive?

Sra. Rivera la bibliotecaria compró 6 camisetas para los ayudantes en la biblioteca.  Cada camiseta costó $6.95.  Ella pagó el costo usando una billete de cincuenta dólares.  ¿Cuánto recibio la Sra. Rivera de cambio?
5CN2a.

Sarah needs 2 ¼ cups of flour for her cookie recipe.  She has 11/4 cups of flour in her flour container.  Does Sarah have enough flour for her recipe?  Explain your answer.

Sarah necesita 2 ¼ tasas de masa para su receta de hacer galletas.  Y tiene 11/4 tasas de masa.  ¿Tiene Sarah masa suficiente para hacer las galletas?  Explica tu respuesta.
5CN3f.  

Paul knows the measurement of two angles of a triangle.  Angle A measures 65 degrees and angle B measures 35 degrees.  Find the measure of angle C in degrees.
Paul sabe las medidas de dos ángulos de un triángulo.  El ángulo A mide 65 degrados y el ángulo B mide 35 degrados.  ¿Qué es la medida del ángulo C en degrados?

5G1a.

a. Caleb is putting a fence around a rectangular garden.  His garden is 12 ft long and 6 ft wide.  How many feet of fence does Caleb need to enclose his garden?
Caleb está construyendo  una valla alrededor de un jardín rectangular.  El jardín mide 12 pies de largo y 6 pies de ancho.  ¿Cuántos pies de valla necesita Caleb para rodear el jardin?
b.  Sara’s garden is similar to Caleb’s, but it is much bigger.  The ratio of Sara’s garden to Caleb’s garden is 2:1.   How many feet of fence would Sara need to enclose her garden?

El jardín de Sara es similar a lo de Caleb, pero es mucho más grande.  El razón del jardín de Sara a lo de Caleb es 2:1.  ¿Cuántos pies de valla necesitaría Sara para rodear su jardín?

5.PS.3a.

Luis has 471 baseball cards.  He wants to share them equally among two friends and himself.  How many baseball cards will each person receive?

Luis tiene 471 tarjetas de beisbol.  Las quiere compartir igualmente entre dos amigos y él mismo.  ¿Cuántas tarjetas va a recibir cada persona?
5.PS.22b.

Stephanie estimates that she will need 6 meeters of border for a bulletin board that is 2.6 meters long and 1.5 meters high. Is this a good estimate?  Explain your answer.

Stephanie estima que va a necesitar 6 metros de borde para rodear un tablón de anuncios que mide 2.6 metros de largo y 1.5 metros de ancho.   ¿Es esto una buena estimación?  Explica tu respuesta.

